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Instruction : The exam contains 6 pages with 30 questions.
For each answer, write the correct number down

AND fill in the bubble(s) on the answer sheet.

1. Find the sum of all the numbers in the blanks?

= (2+)+ (F+3) =002

S 5
24 3 =

3
8

2. Choose the correct number for the blank.

T

@ 0,31
@ 1,99

@ 0.49 @ 051
® 2.01

3. How many pairs of sides are parallel?

4. Which of the following statement incorrectly describe a
parallelogram?

) Opposite angles are of the same measure.

@) Opposite sides are of the same length.

® There are at least one pair of parallel sides.

@ There are four sides of equal length.

® There are two pairs of parallel opposite sides.

5. How many numbers are more than 21 and less than or equal to 40?

27 31 40 19 25
39 21 43 36 47
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6. Which of the followings could be drawn using a broken line
graph?

@ vields of apples in different regions.

@ Number of times that each class uses a computer lab.

3 Number of push-ups that each student can do.

@ Favorite animals of the students in a school.

® Monthly weights.

7. Which of the following number has the greatest number of

divisors?
8 12 17 25 33 69
8. If l and § are reduced to a common denominator,
12

how many 2-digit numbers can be the common denominator?

9. When the difference of two fractions below is simplified to an

improper fraction. What is the numerator?

3 5 9

4 ST

10. Which of the following statements is incorrect about the

rounding of 65218?

) Rounding down to nearest tens —> 65210.
@) Rounding to nearest hundreds — 65200.
©) Rounding up to nearest thousands —> 66000.
@ Rounding to nearest thousands —> 65000.

® Rounding down to nearest ten-thousands —> 70000.

11. Manee wants to build a rectangular fence for his dog. If the

perimeter (in m) of the fence is written as a mixed number, what is

the numerator? (The mixed number is in its simplified form.)

"
Iy m
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12. Which of the following products is greatest?

2.7 53,5 4.3
@?§ @ 7%% © 53
1.8 = 5. 4
@®3xg ©gx7
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13. Malee has bags which contain 42 candies each and Tle has bags
which contain an equal number of candies. Determine the number

of candies in Tle’s bags if the following conditions are given.

When each person distributes each of their own bags to small
bags such that each of Malee’s small bags contains the same number
of candies to that of Tle’s, the maximum number of candies in each

small bag is 14.
‘When each person puts candies from their own bags one at time in their
own large bag such that Malee’s large bag contains the same number of

candies to that of Tle’s, the minimum number of candies in each large bag is

210.

14. Pathways were built on a rectangular field as shown in the
figure below. If the area (in mz) of the field available for
vegetation is simplified and written as an improper fraction,

what is the numerator?

|\-,.|_.

1— mzs 12m

15. The sequence 129, 172, 215, ... is obtained by increasing each
number by 43, starting from 129. How many 3-digit numbers in

this sequence are multiples of 3?

16. A rectangular piece of paper is folded as shown in (A), and is

folded again as in (B). Find the measure of angle @).

(&)

17. What is the sum of two natural numbers @ and @ in the

equation given below?

=
a2

®_,19
49

36
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18. Jane usually goes to school by meeting with Mary at her
condominium and then walk together to school. One day, when

Jane reaches Mary’s condominium, she realizes that the assignments
are forgotten, and has to walk back to home, then takes the shortest
path to school. How much more distance (in m) has she walked on

that day compared to the usual distance?

Mary' Condominium

0.38km , 0.79 ke
: R
Jane's House T 0986 km School

19. The difference between the numerator and the denominator

of fraction A is 79. 1If 3 is added to the denominator, and 2 is

subtracted from the numerator of this fraction, the newly obtained

fraction can be simplified to % Whatis A+B?

20. Somchai and Piti work out regularly. Somchai works out every
4 days, and Piti works out every 6 days. If March 7" is the first date
that they both worked out, what is the date on April that they both

work out for the fifth time?

21. Two types of square tiles with sides of 12 cm and 6 cm and
one type of equilateral triangle tiles with sides of 3 cm are attached
to the wall with the pattern below. If the perimeter of the whole

figure is 444 cm, how many tiles have been used?

1 1
_,2_
8 12

Tony takes a natural number and multiplies it to the denominator

22. There are three fractions: 2 7 , 1

of each fraction. When the results are simplified, each numerator
turns out to be 1.
Richard takes a natural number and multiplies it to the numerator
of each fraction to make natural numbers.
What is the difference between the smallest number that Tony could

have used and the smallest number that Richard could have used?
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23. In a school, Z of students like baseball, l of students like
9 12
|soccer, and § of students like both types of sports. If there are
8
A of students who do not like either sports. What is A+ B
B

when A is irreducible?

24. An old man wants to draw diagonal lines on his octagon shaped
land to divide it into triangles with different sizes. How many ways

are there to divide the land without crossing diagonal lines?

25. Natural numbers are written in the pattern given below.

What is the number in the 11% column and 14" row?

1st 2nd  3rd  dth

15t 1 2 9 | 10

2nd | 4 3 011

d | 5 | &

=1
—
]

#h | 16 | 15 | 14 | 12

26. A marathoner is running at a uniform speed. The first water

table is at E point of the total distance, and the second water
4
table is at E point of the total distance.

He passes the first water table at 9:38 AM and the second one
at 11:03 AM. If he passes the halfway point at A: BAM,

whatis AxB?
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27. A ball is dropped from the height of 7 m. Each time it hits

the ground, it will bounce back 4 of the falling height. When
5

the balls has bounced three times and is at its highest position,

the total distance it has traveled is Ag m. Whatis C—B—A?

(Ag is in its simplest form.)

28. Stone checkers are placed in the pattern below.

[ox X X E6

OO0 [ 8% JOX

O L RN L L Jof X
O®0 [ JOF Jo)

o} } X &)

oL & X L X J®

What is the difference in the number of black stone checkers

and the number of white stone checkers in the 17" round?

29. Thongchai has received a coloring paper with 5 blank rainbow
strips as shown in the figure. He wants to pain all strips, but has
only 4 colors. If he follows the regulation given below, how many

different ways can he color the rainbow strips?

Regulation

I

- All four colors must be used.

- Cannot use the same color in adjacent strip.

30. In a laboratory, an amount of liquid will be divided into

16 cylindrical beakers. i of the total amount is poured into
the first beaker, i of what is left is poured into the second,

and i of what is left is poured into the third. Liquid is kept poured
4

into all remaining beakers in the same way, i.e. pour % 5 é R
11111 1 1 1 11 1 twhatis

51 50 49 48 47 46 45 44 43 42° 41
left in each beaker.

After filling up all 16 beakers, there are still 450 ml of liquid left.

How much liquid was there in the beginning?
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